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' Note :—  Answers may be written either in English or in Hindi;

‘ but the same medium should be -used throughout the _
paper. | ‘ »
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Attempt sbc questions in all.
Question No. 1 is compulsory.
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.. (@) Give the contributions made by the following : 5
v(i) Robert B.rown

P.T.O.
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@iy - Waldeyer .
(7iif)  Van Niel
(v) Guha and Maheshwari

(v)  William Harvey.
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Answe‘r‘ briefly : B 5
) Name the plant tissue which forms the ‘Wood’.
(#) Name any two gaseous pollutants,

(i) Which technique is used for separation of ceil

organelles -?

" (iv)  What is blue baby syndrome ?

(v)  How many Bar bodies are present in Klinefelter

syndrome ?
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Critically comment on the following : - 444
() O, and CO, both are transported by blood.

(i)  The regulation of gené expression in eucaryotic cell is

very complex. |
(iid) Existence of two photosystems in the light reaction.
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‘DgzsAcribe linkage and crossing over with the help of

suitable examples. -

What is criss-cross inheritance ? . 84
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Mentibn the rﬁajor developmental events which occur
during the first and sécond trimester of pregnanéy.
How does the placenta prevent menstruation during
pregpancy ? o 7 8,;1
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Give evidence in support-of any- three " ' 444

(i) * Role of Phytochromes in seed germinatioh..

-(ify  DNA replication ié semi-cénservative.

~ (i) Bile has no enzyme, yet its role in digesfion is great.

() .Apical dominance is caused by ihe Auxin.
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(i) : Descfibe the process qf urine formation in mammals. How
do hormonels contr(_)i renal function ?

(if)  Explain 4brieﬂy the events of chemical synaptic
transmisgion. 84
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() ~ What are various sources of water pollution ? Explain in

detail thé term eutrophication, biomagnification and

biological oxygen demand.

(@)  Addition of excess nutrients to a lake threatens its fish

population. Explain.
(#i)) Why pyramids of energy are always uprjght 2?2 633
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Write short notes on ‘any three : 444
&  Bohr Shif

() Genetic Code

(iii) Epistasis

(V) Krebs Cycle (TCA).
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